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MIDTERM EXAM II
INTRODUCTION TO OPERATIONS MANAGEMENT

Spring 2002 – Wednesday Evening

NAME:____________________________________________________________________________

There are 31 multiple choice questions for you to answer (and 2 Bonus questions).  Select the BEST answer for each question.  You are allowed a calculator, straight edge, writing instrument, scrap paper.  Tables and Equations appear on the last page of the test. You are not allowed to cheat.  You are allowe 1.5 hours to complete this test.  Good Luck.

1. What is the cycle time of a five step process that has the following five process times (the processes are dependent and sequential): Process 1, 10 minutes; Process 2, 17 minutes; Process 3, 10 minutes; Process 4, 45 minutes; Process 5, 7 minutes.

a) 7 minutes

b) 10 minutes

c) 45 minutes

d) 50 minutes

e) none of the above

2. What happens to the throughput time of the process depicted in question 1, if you add a parallel process of 45 minutes to Process 4, and another new Process (number 6) with a process time of 10 minutes?

a) It increases by 10 minutes. 

b) It increases by 55 minutes.

c) It remains the same.

d) It increases but by less than 10 minutes.

e) none of the above.

3. What happens to the cycle time of the process depicted in question 1, if you add a parallel process to Process 4 with a process time of 45 minutes?

a) It remains the same.

b) It increases by 5 minutes

c) It decreases but by less than 15 minutes

d) It decreases by 45 minutes.

e) none of the above.

4. An organization is having difficulty trying to get customers’ opinions into the definition of quality, which of the following programs would be most suitable for this?

a) Just in Time Manufacturing

b) ISO 9000 certification

c) Quality Function Deployment

d) Six-Sigma

e) None are appropriate

5. The categories for the Baldrige Award include:

A. Manufacturing companies or subsidiaries

B. Small Businesses

C. Educational Institutions

D. Healthcare Organizations

E. A and B only.

F. All of the above

6. Home repair services are an example of:

a. Facilities-based services

b. Internal services

c. Field-based services

d. All of the above.

e. None of the above.

7. Which of the following most closely relates to the least efficient service system?

a) high sales opportunity

b) phone contact

c) buffered-core

d) internet technology

e) low sales opportunity

8. Bank Boston has 3 teams of people that do mortgage applications.  These teams can work 7 hours a day.  On average all the teams together are able to complete 10 mortgage requests per day.  What is the average cycle time for one request (round to the nearest minute)?

a) 12 minutes

b) 24 minutes

c) 42 minutes

d) 126 minutes

e) none of the above 

9. What is the average utilization of a three team underwriting office that works 7.5 hours per day and takes an average of 28.4 minutes to fill a single request, when 39 requests come in per day?  (assume that each team has an equal load of requests per day, round to nearest percent).

a) 20%

b) 41%

c) 82%

d) 95%

e) none of the above

10. In operations strategy an order winner is:

a. a screening criterion that permits a firm’s products or services to even be considered as possible candidates for purchase.

b. when a company seeks to match the benefits of a successful position while maintaining its existing position.

c. a criterion that differentiates the products or services of one firm from another.

d. doing something at the lowest possible cost.

e. None of the above.

11. The item in the list below that is not a major competitive priority that forms the competitive position of a company is:

a. cost

b. product quality and reliability

c. coping with changes in supply

d. delivery speed

e. flexibility and new product introduction speed.

f. All of the above are major competitive priorities.

12.Which of the following is not part of a system definition?

a. Input

b. Transformation

c. Output

d. Technology

e. Feedback

13. Productivity increases when:
A. Inputs increase while outputs remain the same
B. Inputs decrease while outputs remain the same
C. Outputs decrease while inputs remain the same
D. Inputs and outputs increase proportionately
E. None of the answers are correct

14. Which of the following is not a dimension of design quality?:

a) performance

b) customization

c) response

d) aesthetics

e) reputation

15. Which one of these processes would most likely be appropriate for McDonald’s Fast Food Services when compared to a Gourmet French Restaurant?:

a. Continuous Flow

b. Batch

c. Assembly Line

d. Job Shop

e. Project

16. There are three clerks in a bank who are filing mortgages.  Each clerk was randomly sampled 4 times in a week to determine how well they were doing.  Using an x-bar chart, which of these clerks seems out of control?

	Clerk
	Observation 1
	Observation 2
	Observation 3
	Observation 4

	1
	17
	15
	15
	17

	2
	16
	25
	18
	25

	3
	23
	24
	23
	22


a. Clerk 1

b. Clerk 2

c. Clerk 3

d. All are in control

e. None are in control

17. If the system contains a bottleneck, the _______ is the best place for control. If there is no bottleneck, the __________ is the best place for control. 

a. Capacity-constrained resource, bottleneck.

b.  Capacity-constrained resource, drum 

c. Bottleneck, capacity-constrained resource

d. None of the above.

18. Which of the following are reasons for holding inventory before a bottleneck process:

a) It keeps the bottleneck process fully utilized.

b) There is more starving risk if not enough material is there.

c) Uncertainty associated with the bottleneck is reduced.

d) All of the above are reasons.

19. The cost of people for inspection purposes is what type of quality cost?

a. Appraisal

b. Internal Failure

c. External Failure

d. Prevention

e. Design

20. Which of the following statements is not true about acceptance sampling?

a. May involve inspectors taking random samples of finished products and measuring them against predetermined standards.

b. May involve inspectors taking random samples of incoming raw materials and measuring them against predetermined standards

c. Is less economical than 100% inspection

d. May be either a variable or attribute type

21. For a statistically dependent process with statistical fluctuations which of the following is typically TRUE?

a) Inventory is greater at bottleneck processes. 

b) Utilization is higher at non-bottleneck processes.

c) Manufacturing lead (throughput) time increases with fewer processes.

d) Flexibility increases.

e) None of the above are true.

22. Which of the following statements is NOT true?

a) A non-bottleneck contains idle time. 

b) A non-bottleneck may produce more than is needed.

c) A non-bottleneck is a resource whose capacity is greater than the demand placed on it.

d) A non-bottleneck should be working constantly.

e) All of the above are true.

23. Which of the following programs requires close relationships between process and product designers?

f) Inspection. 

g) Six-Sigma.

h) ERP.

i) SPC.

j) None of the above.

24. With respect to quality sampling theory the consumer’s risk is the probability associated with

a) accepting a bad lot

b)  rejecting a bad lot

c) accepting a good lot 

d) rejecting a good lot

e) none of the above

25. Which of the quality control approaches would be considered the most “progressive” for an organization?

a) Inspection

b) Process Control

c) Baselining

d) Six-Sigma

e) Continuous Improvement

26. If the average inventory (WIP) for a system is 5 units and the amount of units on average that are completed is 40 units per day (given an 8 hour day), what is the Throughput time for an average unit?

a. 20 minutes

b. 24 minutes

c. 36 minutes

d. 40 minutes

e. none of the above

27. Which of the following firms is the most productive?

	
	Average Input (Labor Hours)
	Average Output (Labor Hours)
	Profit (%)

	a) Division A
	43
	38
	12.0

	b) Division B
	28
	26
	8.6

	c) Division C
	57
	52
	9.7

	d) Division D
	120
	110
	10.8

	e) Division E
	260
	255
	11.0


28.  Comparing a firm's performance on critical criteria against the best businesses is known as:
A. benchmarking.
B. comparative evaluation.
C. quality assessment.
D. root cause analysis.
E. quality function deployment.

29. _________  is when the activities in the stage must stop because there is no place to deposit the item just completed.

A. Starving 

B. Blocking

C. Tackling

D. Passing

E. Touchdown!

30. If you were a manufacturer that was not involved in the design, production, and after sales service of a product, which would be the most appropriate IS0 quality standard to pursue?

a) IS0  9000

b) ISO 9001

c) ISO 9002

d) ISO 9003

e) ISO 14000

31. Generic Quality tools include all EXCEPT:

A. Run Charts

B. Scatter Diagrams

C. Sampling Plans

D. QFD

E. Fishbone Diagram

BONUS QUESTIONS:

1. What location was NOT considered by New Balance Shoes?

a. Texas

b. Ireland

c. St. Louis

d. Lawrence

e. All of the above were considered.

2. Who was the NFL Superbowl champion this year?

a. St. Louis Rams

b. Pittsburgh Steelers

c. Dallas Cowboys

d. San Francisco 49ers

e. None of the Above

TABLES AND EQUATIONS:

Revenues – Costs

Price * (Q) – (Fixed Costs + Variable Costs * (Q))

Throughput time = (work-in-process)/(throughput rate)
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